
Jerry Greer's Engineering - 1940 Chief - Transmission Tower

Ref Part # Qty Description Price

Page 1               Created On: 04/27/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1940 Chief - Transmission Tower

Ref Part # Qty Description Price

1 JG-4647 1 TRANSMISSION TOWER, includes cap, used currently
unavailable

2 24B15 1 SHIFTER FORK BELL CRANK STUD, $15.00

3 20B5 1 SHIFTER FORK BELL-CRANK, used $250.00

4 927028 1 SHIFTER FORK BELL-CRANK WASHER, 0.335'' I.D, .075'' thick, Flat, Bare Finish $3.25

5 920007 2 WASHER, 5/16'' Flat; Cad Plated $0.75

6 603010 1 NUT, 5/16"-24(Castle); Cad Plated $8.00

7 636004 1 COTTER PIN, 1/16'' X 1/2'' $0.50

8 42307 1 SHIFTER FORK BALL-LOCK, $36.00

9 37423 1 NUT, 3/4''-16(Hex), shifter fork ball-lock; Cad Plated $9.75

10 38242 1 BELL CRANK OPERATING LEVER, used currently
unavailable

11 26B97 1 BELL CRANK OPERATING LEVER BUSHING, long; Cad Plated $15.00

12 28B81 1 BELL CRANK OPERATING LEVER PIN, must be riveted in place $5.00

13 38245 2 BELL CRANK OPERATING LEVER BUSHING, Short $15.00

14 38243 1 BELL CRANK OPERATING SHAFT, $36.00

15 538012 1 KEY, 5/32 X 5/8(Woodruff) $0.75

16 22B222 1 TRANSMISSION TOWER CAP, currently
unavailable

17 JG-2357 1 FASTENERS, for transmission cover and cap $37.00

18 206012 4 BOLT, 1/4''-20 X .875''(Hex) $2.50

19 206011 7 BOLT, 1/4''-20 X 0.750''(Hex)Cad Plated $2.75

20 206016 1 BOLT, 1/4''-20 X 1.375''(Hex) $3.00

21 922006 12 WASHER, 1/4'' Split Lock; Cad Plated $0.75

Page 2               Created On: 04/27/2024 - Copyright 2024 Jerry Greer's Engineering


